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©a>0,b>00]‘?ﬂ Va+ Vb > Na+b
@ RE A4 a,b o WSt |al + bl > a+ b
® RE A4 a,b ol ot a® + b* > ab
@ H= A5 a,b HSHA Ja - bl < lal - |b]
® a>b>04 ™, Va-b< va- Vb
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o2 J2HANA Al At A = {a,c.d,e},B = {b,c,e},C = {a,c, f} &
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11. Al A& PR Hi5td n(P) = 19, n(QNR) =7, n(PNQNR) =3
A o, n(PU(QNR)) = F3tofat,
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[=

[ 2
> =g 23

n(PU(QNR))
=n(P)+n(QNR)—n(PNQONR)
=19+7-3=23




12, AAZRGY A 2EHF A4 = {dx=062 %), B =
{xx 159] 951, € = {xx=169] 25} ol Bsked n((A - B) U

(A-C)U (B-C)) & F35FH?

@ 4 ©@s ® 6 @ 7 ® 8

B

A={1,2 3, 6}, B={l, 3,5, 15},C=1{1, 2, 4, 8, 16}
A-B={2, 6},B-C={3,5,15},A—C = {3, 6}
~(A=B)U(A-C)U(B-C) = {2,6} U{3,6} U {3,515} =
{2, 3, 5, 6, 15}

kA n((A-B)U(A-C)U(B-C)) =5




